2. ¥R 9OFEXRERARGCEE

FH19F 10 A 26 BICRHKEEICSVTHES N %17 AEEXTHE
RNEEEARENSEHEINE=EDTH S,

FR1OFEREDES - RFTEE (BER)

B ha, kX
] ZEREGRESESSE ZEFAEFHEESESSE aat

meamﬂ,g SEPERE — %5 R I S TERE

@i | WE | 56 | MEE | mm | ME | 56 [MEED| mm | WE | S8 |[MEEo
(68) | (10R) | @ (68) | G10A) = (68) | (10R) =

4| 19085 3s150] a7.010| A 240 1.519] 4145 4523 378| 20.804| 42295 42433 138
# #| 3007 4410 4070[ A 340 26| 47 56 9 3033 4457 4126] a 331
5 F 1918 2.470 2.450 A 20 1 24 24 0 1,929 2,494 2,474 A 20
= | 9298] 11.830] 12540 710 9,298 11,830 12,540 710
B H| ga3ss| ss20| 8870 50 124 231 27 40| 6480 9051 9,141 90
W #) 4s5s6| 5250 6830 1580 4586 5250 6830 1580
# | 1027] 1500] 1200 A 300 1027 1,500 1200 A 300
& Wi| 3800 4330 4280 4 s0 298 593 792 199] 4,098] 4923 5072 149
# K| 4040 5310 6450 1.140 268| 594 669 75| 4308] 5904 7119 1215
® 5 135 270 370 100 135 270 370 100
B E 212 260 310 50 212 260 310 50
F FE| 443|520 430 A 90 443] 520 430 4 9o
B 300 40 0] 440 300 40 0 440
£ %) 2650 1770 1650 A 120 2650| 1,770] 1.650| A 120
# W] 5247 8000] 9280 1280 13 25 25 1] 5.260f 8025 9305 1281
& | s5158]  8200] 6.840| A 1,360 5158| 8200] 6.840( & 1360
A Il 1e50] 1970 1.860] A 110 1650| 1970 1.860| A {10
bz ®| 1900] 2610 2860 250 1909] 2610] 23860 250
F @[ 280 170 180 10 280 170 180 10
® M| 4033 5040 5250 210 4033| 5040| 5250 210
= H| 2524 3470] 3650 180 2524 3470| 3650 180
8 | 1125|1420 1520 100 1.125| 14200 1520 100
# #H|| a200] 5190 6020 830 15 27 27 0] 3275 5217 6047 830
£ 469 400 400 0 469 400 400 0
m & 47 30 0| A 30 47 30 ol A 30
X B 28 50 50 0 28 50 50 0
5 548 940 870 A 70 548 940 870| & 70
B MR 1207 740| 650 A 90 1237)  740|  650| A g0
fE 196 200 270 70 196 200 270 70
L B 850 380 30| a0 850 380 370 A 10
w oA 476 830 520 A 310 476 830 520| A 310
& N 60 60 60 0 60 60 60 0
= iE 250 440 430| A 10 250 440 430 A 10
A 107 130 150 20 107 130 150 20
& M| 7113 13240| 14690 1450 73 174 196 22| 7.186] 13414| 14,886 1.472
5 | 7695 17.810] 15980 A 1.830 27 77 16 39| 7721 17.887] 16.096| & 1791
& W 280 460|480 20 280|  460| 480 20
B &| 2386 3890] 5030 1.140 1 6 16 10| 2387 3896 5046] 1,150
x & 1,565 1,750 2270 520 67 149 158 9 1,633 1,899 2,428 529
L 1200  230] 260 30 1200 230 260 30
ERB 195 230 260 30 195 230 260 30
) 105,865| 162.810] 167,560) 4.750] 2442| 6093] 6873 780| 108.307| 168,903| 174.433] 5530

39



(1) 2ERXHREGESR (£2R)

ER19OFEE RS ER - BRFEEHE

(% . 2EREHRESESR)

1. R RS ERIER (Bf:M)
REFESH=E
£ fr &
s = 25l
TEAR  mamx
11~2H 3A~5A 6H~10H A&t
AFLEE] 13,070 21,710 22,580 57,360
167,560 | FExt- 29K AN 5] 14,330 30,610 65,260 110,200
ET 27,400 52,320 87,840 167,560
Kk
2. EREHE
(BEfGL:*h)
ERFE 2] ERTPEHE
tiEE 25NDF 830
YILLR A 1,410
BR Xk 1,570
P [OF - 110
Ktk 20
ELFESY 27,390
PEUY H 20
AAXVTIL 4,420
aAxTXAh 480
AXE A 10
| 1,300
INYEAY 350
dtiEE 5t 37,910
5 Y SEEED 3,950
oA 120
5 £5t 4,070
=F FI<A 30
axXX 50
XA 660
FrJonA 1,160
oo 430
Sy Xoonox 110
¥kl 10
=F £5t 2,450
=I5 = P 4,370
BFFHIN 1,870
B2oLA 4,350
HOZHta 720
THIOM 1,100
aRXRRX 130
=i £5t 12,540

40




EFE A ERFEHRE
E Jarok 7,000
BAF14H 410
aRX 110
L Y ~ERED 110
ER: RSy 1,240
RIS 8,870
Lz LA 3,790
RX45H 210
RAFA3A 980
oo™ 1,680
TIEMEY 100
HOZH 1 70
25 6,830
=28 aRX 20
ZRX149A 200
BFFHIN 770
ASLLARE 200
B39 10
128 £5t 1,200
B3 BFFHIN 2,470
JINZA3H 270
A ISRANY i 1,540
R EE 4,280
R BFFHI\ 6,270
1=F>5656 10
RNy i 170
AR E5t 6,450
BE BFFHIN 360
INRAARAH 10
BE 5t 370
BE BFFHIN 270
=, 40
BE &5t 310
FiE 79343h 250
HF14H 120
BFFHIN 60
TiE £5 430
& FhtF) 1,010
BFFHIN 220
xoLA 260
DAIFEN 140
IIFEDL 10
L2045 10
E¥ &5t 1,650
it IoLA 8,890
HIhHt 230
axXRX 20
BFFHIN 50
® 112045 20
BFAHEY 10
BXE 60
il it 9,280
= I LA 5,990
FAVIL 850
=1 £5t 6,840

41




EFE i) ERFPEH=
all I LA 1,570
HPIHhh 220
ORX 20
Z D1t 50
E=E i 1,860
Iz & 29145A 2,640
20EFFEN 160
BFFHIN 60
I B &t 2,860
55 EZERT 180
BRI AT 150
Z40 [253%Ah 5,250
ERE 229
=8 2531458 3,520
2IRTL 50
TEHED 50
AAVIL 30
=5 &5t 3,650
=H I LA 1,280
HOIH 1t 230
Z D1t 10
f2H £5t 1,520
HE AV 2,620
LA 170
2RI 550
2934%h 2,440
ZEpt=m 170
Z Dt 70
BE £5t 6,020
=B [Fa24h 50
=B &5t 50
KE YFa14h 270
Bx&S 90
TAVIL 40
EE £5t 400
BE YFa14h 570
ER:ESYAY e 50
RIHRTL 230
I LA 10
ZDfth 10
SEE 870
BiR ZDith 10
RIRTL 300
HF14H 340
ElENN 650
il L HF14h 100
RIRTL 40
=P = Py 120
293435h 10
FITES: 270

42




ERFR i) ERTPEH=
LB 7EOl 140
HF14H 220
INR3AH 10
NI 370
WA HSF14h 420
79349h7 90
ZDfth 10
M=K 520
E EZERT 60
EES! 60
I 2531458 350
RIRTL 20
HF13h 60
g £E 430
= 29345 150
S0 &5t 150
=] 24145h 14,600
TIEED 60
HFa143h 20
F3IzRY 10
[HEE 14,690
B 253145h 13,230
Lopi=Hh 2,750
EE S5t 15,980
5 EZERT 480
El& 55t 480
REAR 253145A 4,940
TEHED 60
I)LRE— 30
RER £t 5,030
R R D 850
LHP=H 1,180
(=P up 200
33Ky 10
TI)ILRE— 20
TEHEED 10
X5 &5t 2,210
= I [2521%Ah 260
=I5 E5 260
ERE 29344 260
BERE £5t 260
e 167,560

43




3. BRFEETE

(1) SEFFIE 5 - S84 81 - BB 35 B B AR B E F e g o (BEfI:*)
. . HR

BRR | A 517 11~2A | 3A~5H | 6A~10H E

iEE |[220F |[AfLESEI 120 60 100 280

HExt - B EE S| 160 150 240 550

25NDF £it 280 210 340 830

WILLARA | AFLERE] 120 60 290 470

A Xt - 229 B ER S| 270 160 510 940

VILLAA 5t 390 220 800 1,410

EE XKk |AFLERE] 60 120 350 530

EXE - BEFIE AR | 0 100 940 1,040

EHE AR S5 60 220 1,290 1,570

X#DE | AFLEEI 0 0 0 0

FEXE - B2 FEEERB| 0 0 110 110

ABDE £5t 0 0 110 110

pNE AFLELE] 0 0 0 0

R E Xt - 229 ER S| 0 0 20 20

I 5 0 0 20 20

EkFESY  |AFLEEI 1,800 1,800 5,580 9,180

FExE - 2GR ER S| 1,570 3,880 12,760 18,210

EEFESY FEt 3,370 5,680 18,340 27,390

WwEUWYH | AFLELSI 0 0 0 0

= g@rﬁ-%@.‘ﬁﬁﬁtﬁﬂyal 0 0 20 20

UYm &£5 0 0 20 20

AR AFLERE] 300 600 580 1,480

HExt - 2RI FIEER S| 480 850 1,610 2,940

AXT)L Eit 780 1,450 2,190 4,420

A% XAh | AALELSI 30 30 100 160

HHxt - BB HE AN | 0 20 300 320

EEDVVE X 30 50 400 480

AXEA AFLEREI 0 0 0 0

= +$E§¢-§€%@ﬁiﬁﬂy§| 0 0 10 10

AXEA &£E 0 0 10 10

FAH AFLERB| 60 120 260 440

tExt - 22 FIEER S| 40 110 710 860

I 100 230 970 1,300

nNyeh) |[A4LEEI 30 30 60 120

= $$Ei¢-§€$§ﬁiﬁﬂy§| 100 100 30 230

NYEHY &5 130 130 90 350

iEE 51 5,140 8,190 24,580 37,910

] BHTT | ALLEEI 460 510 510 1,480

EXE - A FIE AR | 170 170 2,130 2,470

BH99 it 630 680 2,640 3,950

Foinx | AfLEREI 20 40 40 100

F $$Ei¢-§€$§$£tﬁﬁyal 0 0 20 20

PI=EE-X 20 40 60 120

a5 &5t 650 720 2,700 4,070

aF FhA AFLES] 0 0 0 0

E k’fﬁﬂ-%‘ﬁqﬁtﬁﬂyél 0 0 30 30

FALA &5 0 0 30 30

axRX AFLERS] 0 0 0 0

=5 B Xt - SRR AR S | 0 0 50 50

aRX &5 0 0 50 50

AXAH) AFLERS] 90 90 90 270

FExt - 2GR ETER S| 20 100 270 390

ARXAH) &5t 110 190 360 660

FoIJiOi | AFLEEI 170 230 40 440

EXE - A FAIE AR | 0 170 550 720

FrJoi &EEt 170 400 590 1,160

Yook | AFLEE] 20 40 40 100

HExt - BB FHE AN | 40 50 240 330

Yook E&t 60 90 280 430

SV XS OA[AFLEREI 0 20 0 20

AT - 22EIFRIEERS | 0 70 20 90

S xot £Et 0 90 20 110

aFhR<vL | AFLERS] 0 0 0 0

EXE - B FIE AR | 0 10 0 10

EEY 4V 41 0 10 0 10

BF K&t 340 780 1,330 2,450

44




ERR %*ﬁ W51 11~2H | 3A~5H | 6H~10H B
=377 2o Oi | AALEREI 340 740 800 1,880
AR - EBE RS ERE| 580 920 990 2,490
S XooAEE 920 1,660 1,790 4370
BoLA AFLERS] 230 630 680 1,540
x-SR | 910 840 1,060 2,810
AoLA K5t 1,140 1,470 1,740 4,350
BFFH/N | AALEEI 110 230 290 630
AR - 2E RS ERE| 290 390 560 1,240
AFFH/N EE5t 400 620 850 1,870
HPIhta [AFLELE] 50 100 100 250
AR - BRI IEERE| 80 210 180 470
HOTH 1 &£t 130 310 280 720
EHEIOH [AFLEEI 0 0 0 0
AR - 229 AR S| 0 0 1,100 1,100
=shaomn £5t 0 0 1,100 1,100
XX AALERS] 0 0 0 0
= AR - BE R ERE| 80 50 0 130
axX &5 80 50 0 130
=i EET 2,670 4,110 5,760 12,540
FH JargR | AALERE] 510 910 970 2,390
AR - BRI EERE| 590 980 3,040 4610
Yook & 1,100 1,890 4,010 7,000
AFaR3H | AFLERE] 0 60 100 160
HExt - 2B IS AR | 0 0 250 250
AF13h £&t 0 60 350 410
XX AALERS] 0 0 0 0
AR - B ERE| 0 0 110 110
axX &5t 0 0 110 110
BHETT [ AFLEEI 0 0 20 20
A Xt - SRR IR | 0 20 70 90
5899 K&t 0 20 90 110
FTFEOMN | AFEEI 60 370 0 430
FExE - 2B ERE| 100 710 0 810
TIOH EEt 160 1,080 0 1,240
PEESS 1,260 3,050 4,560 8,870
11} LA A*FLERE] 240 570 570 1,380
FEXT - BRI E AR S| 400 810 1,200 2,410
I L4 &5 640 1,380 1,770 3,790
ARX2%5Ah |A#LEEI 0 0 0 0
A xt - S FRIEER B | 0 90 120 210
AR145H K&t 0 90 120 210
AF13h | AFLELEI 10 140 180 330
FE et - B2 IE NG| 70 260 320 650
AFa53H Ei5t 80 400 500 980
JaoiRD | AFLERE] 30 260 320 610
FEXT - BRI IEERE| 20 490 560 1,070
JaoiR & 50 750 880 1,680
TIHEY [AFLEEI 20 20 0 40
AR - 22E R ERE| 20 20 20 60
TIhBY Fit 40 40 20 100
HPhta [AFLELE] 0 0 0 0
FAXT - BRI IE AR S| 20 0 50 70
HOhHhh Eit 20 0 50 70
W E&t 830 2,660 3,340 6,830

45




R

m5IA=RK

HAA

BRE axX AFLERS| 11=2A 0 3ﬂN5ﬁo SH~104

T FExt - 2T RS 0 20 g 28
RZX45H [AALELEI g gg 8 e
O Ny > 60
57 ;@rﬁ IS G| 0 90 50 140
AFFHs/N [ AFLELEI 98 128 gg e

O > 2
T ;ﬁ LY IEER | 210 190 90 438
ALLvaE [ AFLERSI 328 328 138 &
Lms! 100
— s %ﬁﬁ 9IS NG| 63 0 100 100
F YRR AFLERSE] 0 28 5 .
5T ﬁiiﬁiﬂ-%@%@ﬁiﬁﬁyél 0 10 g 18
BE &l ) 30 % 5 0
FHW 37T A/ | AALERE] 290 o0 e .
FE <t - B2 49k HE AR S | 2 e o0
R foFk s ‘7‘28 530 580 1,600
NA1AH | AALELEI 0 8§8 873 24

. it - s 3
vy %Eﬁ SE9FITER S| 0 200 40 248
f=/hA [ AFLERSI 148 gig 128 o

N = - 52
SR ;jfﬁﬁ I IEER S| 120 530 370 1,028
R 5 1 260 770 510 1,540
HAR AFFHN | AFLEREI ,gio oo e X
A3 A FIEENE| g 750 2204170
Rl FoFk AR 1 690 1,260 2,220 4,170
F-E555 | AILEXG] '538 2,123 2083 220
EFSTE ﬁiﬁrﬁﬁ-%@%‘qﬁiﬁﬁyal 0 0 18 18
fWE/mL [ AFLERSI 8 5 3 3
FExt - 2T RS ; ; :
T T & 0 20 150 170
EAR £&t 1 538 o o =
#E  [Z7TH/N ARG 20 4% = S5
O " 13
=TT §$§d R FAEER S| 0 40 190 238
NZARD | AFLERE] 28 138 20 5
=5 %'Eiv}%’éfﬁﬁﬁiﬁﬂxél 0 10 8 18
BE &5l ) % 0 ; 70
BE BFFAH/N | AFLEEI = . °
tExE - 2 TR IEER S| % 70 % 5
T FoFk A ig 120 30 180
Bt AFLERS] 0 1?8 8 4
=T FExt - 22 FRIEERB | 0 20 18 ;8
s H 0 30 10 40
Fi 79347 | AfLEREI 4210 2 % %5
tExt - S F R | 0 2 5 o
e FoFk s 28 110 60 170
HFa42h | AFLEEI 10 128 Zg S
5 it - - s 40
57 %Eﬁ ISR E| 18 0 80 80
BFFAH/N | AFLEE| 0 gg 98 o

O > 2
A %ﬁﬁ REIFIEER S| 0 30 10 48
=z : 0 50 10 60
30 230 170 430

46




HRR | ER3I At viern T aresa g or
£EH FHhtF )\*LHS(%I 140 140 90 370
A xt - RIS ARG 80 220 340 640
FThe T £5t 220 360 430 1,010
BFFH/N | AFLELE] 0 40 20 60
AR - 2R IEERB | 20 100 40 160
AFFH/N it 20 140 60 220
FoLA AFLERS] 50 50 0 100
A xt - E2HFISERE| 50 80 30 160
¥oLA &5t 100 130 30 260
DAFFEN |AFLELE] 0 0 0 0
AR - 29 FRIEER B | 40 40 60 140
DAFEN 5t 40 40 60 140
TIFEL )&*LH&%I 0 0 0 0
= E*EAT B R IE IR S| 0 0 10 10
- i 0 0 10 10
HI2045 | AALERSI 0 0 0 0
FE*T - 22 FIE RS 0 0 10 10
Hil2045 &5t 0 0 10 10
¥ &5t 380 670 600 1,650
i I LA N RE] 1,540 1,250 460 3,250
FExt - 22T RS 1,710 2,020 1,910 5,640
I LA &5t 3,250 3,270 2,370 8,890
HOIH 1 J\*LHX&%I 0 20 20 40
A xt - RIS ARG 60 50 80 190
HOH 1 :Jr 60 70 100 230
JRXX AFLERS] 10 10 0 20
= FE*t - 22T RS 0 0 0 0
aRxX &5 10 10 0 20
BFFHs/N | AFLELE] 0 0 0 0
SRR ﬁ*-r B F S| 0 0 50 50
FFHH/N &5 0 0 50 50
B2045 | AALERS] 0 0 0 0
T gﬁﬂ-%ﬁé’a%ﬁiﬁﬁﬁl 0 0 20 20
2045 &5 0 0 20 20
EFHEY )\*LHS(%I 0 0 0 0
=77 $E+*1 BN BEER S| 0 0 10 10
BEFHEY &£E 0 0 10 10
FAE AFLERS] 0 0 0 0
FAxT - 22 FIE RS 0 0 60 60
FXE &5t 0 0 60 60
ik & 3,320 3,350 2,610 9,280
=1 oA AFLERE] 860 630 630 2,120
FExt - 22 FIE S 840 750 2,280 3,870
T4 &5t 1,700 1,380 2910 5,990
AAVIL | AFEEI 110 110 110 330
AT - 2R IEER B | 100 150 270 520
AVl K&t 210 260 380 850
= 5t 1,910 1,640 3,290 6,840

47




ERFR | 88 v ElpaEy i)
&l I LA L] 11~2)§60 3}51~5J1ﬂ70 68 ~10H E
o - 8 170 6
=T %ﬁaﬁ RHIFIBERS| 370 270 330 9(7)8
Booha | LI g & 2
Rt - 2T 30 30 90
Bo AR ET A 120 0 40 130
JXX | ATLRE] 0 2 10 220
o ET At - SRS | 0 5 : -
Zof | ARLEE] : 2 0 20
Z Dt E& - SRAIFIEER S| 50 0 8 58
A1 St - -2 0 0 50
BB [9535h | AILEG 0 340 o —
e 0 9
PYEYY) %‘ﬁ X REEUERS| 250 650 830 1,7;,8
SOEEN | AFLEE] 428 990 1,230 2,640
15t - LA ERE | 5 20 60
SEEER B - 0 700 00
BFFH/N | AFLEGEI % 28 120 160
g L RS 10 50 2 20
TR, ‘ 30 20 10 60
BE [J535h |ARLEG) o 08 1300 280
o - g 0 70
o RHHER| 0 M -0 19
B A 2 Tio S 780
BH  [7515h [ARLEE] 20 180
] . 260 740 840 1
S EET $_$E§1 LRI S| 220 1.210 1,980 3:2‘118
Bm & B 480 1,950 2,820 5,250
=E [J735h [AALEG| 70 §i 282 5,250
e 0 1,31
29155 %;ﬁ A R 200 850 1,160 2,218
BTReL | ARLEG] . e LIS 3588
e gEﬂ-iéﬁ’:’Jﬁi%HX%I 0 20 0 2
FTHED | AFLRE] ; 40 10 50
SR N S 0 7 = 2
FAIL | A 0 2 49 50
o R R 0 20 0 =
=% &% " 0 o 10 30
BE  ToUq T ?;8 1,;138 1,790 3,650
=7 %ﬂ_*ﬁﬁ-%’é%ﬁﬁiﬁﬂﬁl 200 220 ;gg 3;8
BBt [RILERE] B o 220 1,280
ETIETY A 120 50 0 70
ZoM | AALEG] 4 2 20 230
g L AR 0 0 2 K
fBFt %t ] 0 0 10 10
510 460 550 1,520

48




ARl

ERFE 4] mEIAR TT~25 3E~5H | 65~10F
BE FAYIL AALERS] 290 290 300 880
Ext - BB IEER S| 240 230 1,270 1,740
FAVIL £it 530 520 1,570 2,620
IoLA AFLERSI 20 20 20 60
Bt - AR S| 20 10 80 110
I LA &5t 40 30 100 170
2THR<L  |AFLELEI 90 60 60 210
bE it - SO FR S AR S| 120 100 120 340
A2hR<wlL &i5t 210 160 180 550
29347 | AfLEE] 290 290 290 870
FExt - 2GR IEER B | 170 120 1,280 1,570
29345k 5t 460 410 1,570 2,440
—EP=h | AFLELE] 20 20 20 60
Bt - BB FEEER S| 0 0 110 110
e Ei5t 20 20 130 170
ZDih A*#LER5] 0 0 0 0
TR AT - 22T ERE | 0 0 70 70
ZD g 0 0 70 70
B X 1,260 1,140 3,620 6,020
=B HFa42h | AFLEE] 10 10 0 20
= %ffﬁﬁ-%’é.‘ﬁ’aﬁiﬁﬁyél 0 30 0 30
HF13h £E 10 40 0 50
=B &£5t 10 40 0 50
EE HFa42h |ARLEEI 30 30 30 90
Ext - BB IEER | 0 0 180 180
HFasHh 5t 30 30 210 270
EFPS) AFLERB] 10 10 10 30
x-S FIEERE| 0 0 60 60
B23&5 £5t 10 10 70 90
FAVIL A*#LERS] 0 0 0 0
= i_;rﬁia‘-%’é.%’gﬁiﬁﬂyal 0 0 40 40
DI 0 0 40 40
EE £5 40 40 320 400
Em HFa42h | AFLEE] 80 70 70 220
FExt - B2 FIE RS | 0 0 350 350
HFa5Hh 5t 80 70 420 570
I3 At | AALELE] 10 0 0 10
R *Efa‘-;’éfﬁ@ﬁiﬁﬂyél 0 0 40 40
“ChY 10 0 40 50
A<iR<lL | AFLELEI 20 20 20 60
Xt - BRI FITER S| 100 50 20 170
2Tkl &£it 120 70 40 230
I LA AFLERB] 0 0 0 0
= 1*&%-%@%’9%’&1&% 0 0 10 10
I LA &5t 0 0 10 10
ZDith AFLERS] 0 0 0 0
T Ext - SBEFIEER S| 0 0 10 10
ZD E 0 0 10 10
B £ 210 140 520 870
B ZDith AALEXE] 0 0 0 0
TEST Xt - BRI FITER S| 0 0 10 10
D g 0 0 10 10
A3R<L | AFLELE] 30 30 30 90
FExt - B2 FIE RS | 10 10 190 210
22h<L &5t 40 40 220 300
HFa42h | AFLELE] 40 40 40 120
Xt - BRI FRITER S| 0 20 200 220
HFasHh 5t 40 60 240 340
BB £t 80 100 470 650

49




18 T IR £ y

‘L”er kil W57 11~25 | 3A~5H | 6A~107 :
i L HFa4h | AFLELEI 10 10 10 30
X %@rﬂ-%@%@ﬁiﬁﬁﬁl 0 0 70 70
1 10 10 80 100
A2<R<l | AALERS] 0 0 0 0
=T ifgﬁ%’é%ﬁﬁiﬁﬂyal 0 0 40 40
<k : 0 0 40 40
Foox [ AFLERSI 20 20 20 60
== iiﬁﬂ-%’ﬂﬁiﬁﬁﬁl 0 0 60 60
= 20 20 80 120
2934h | AALERE] 0 0 0 0
|18 - SR IEER S | 0 0 10 10
T 292450 &5t 0 0 10 10
H 30 30 210 270
LS 7Eooi | AFLELE] 20 20 20 60
_ TE - SRAEYFRAE RS | 0 0 80 80
7ExoOr EEt 20 20 100 140
HFa4h | ARLEE] 30 20 20 70
] %@riﬁ-%’é%@ﬁiﬁﬂﬁl 0 0 150 150
1 30 20 170 220
NZRZH | AFLERE] 0 0 0 0
TE - SRAEYFRAE RS | 0 0 10 10
g R VE 5 0 0 10 10
£ 50 40 280 370
A HFa4h |AFLERE] 50 50 50 150
e %t - SR F AR S| 30 20 220 270
HFaah 5t 80 70 270 420
293%h | AFLELE] 10 10 10 30
—%7; %ﬁ Xt - ER S| 0 0 60 60
a1 £t 10 10 70 90
ZFDith AFLEE] 0 0 0 0
__[#Bxt- SREYRRIRER S| 0 0 10 10
TEE ZDh FE& 0 0 10 10
£ 90 80 350 520
E 2934h | AFLEEI 20 10 10 40
LisESRE S sz ] 0 0 20 20
T 292450 &5t go 10 30 60
SIES 0 10 30 60
ZhE 29a%h | AFLEEI 40 40 40 120
LiEESRES e 8- G ] 20 0 210 230
2934%H &5t 60 40 250 350
A3HR<L | AFLERE] 10 0 0 10
T ﬁfEﬂ-%@%’aﬁi%Hyél 0 10 0 10
<k B 10 10 0 20
HFa14ah | AFLEE] 10 10 10 30
E % - SRR RS | 0 10 20 30
SR HFa13h K5t 10 20 30 60
o g 80 70 280 430
=& 293%h | AFLELEI 30 30 30 90
Rt - S BT AR5 | 0 20 40 60
B PUEY YL i 30 50 70 150
=0 5 30 50 70 150

50




iR

mEIAR

11~28 3H~5H | 6 H~10H B
& fif] 2931457 | AFLELE] 680 2,450 1,770 4,900
EXT - S2EI T AR 560 2,460 6,680 9,700
29330 £&t 1,240 4910 8,450 14,600
F3azry AFLER 5] 0 0 0 0
= = :ﬁﬂ-%@ﬁﬁiﬁﬁyal 0 0 10 10
3=F1) £3 0 0 10 10
HFa15h | AFLELE] 0 0 0 0
5 %Fﬁr?«f e ] 0 0 20 20
HYFash &5 0 0 20 20
TTEED [AFLEEI 0 20 0 20
FExE - 2E AR 0 0 40 40
TIEED £it 0 20 40 60
[EHRES: 1,240 4,930 8,520 14,690
3 2934948 |A#LESE| 570 2,280 1,600 4,450
FExE - E AR 690 3,000 5,090 8,780
2914537 &5t 1,260 5,280 6,690 13,230
Top=m |AFLEEI 190 380 360 930
FEXE - 2BE AR 220 620 980 1,820
Top=-m it 410 1,000 1,340 2,750
B £t 1,670 6,280 8,030 15,980
RIG 293%h [AFLEEI 40 80 50 170
FExE - EF AR 0 100 210 310
2914537 £&t 40 180 260 480
E5 £5t 40 180 260 480
HE 79348 [AFLEEI 190 860 640 1,690
tExt - B2 F S ER B 190 1,340 1,720 3,250
2914537 &5t 380 2,200 2,360 4,940
TTEED [AFLEEI 0 0 0 0
— $$E+§*I'§@-‘ﬁ'ﬂ9éiiﬁﬁﬁl 0 0 60 60
"BEd £3 0 0 60 60
IILARA— | AFLERE] 0 0 0 0
Xt - SRR FIE AR S| 0 0 30 30
IILRA— F5t 0 0 30 30
HER £5t 380 2,200 2,450 5,030
P 2931457 | AFLELE] 0 150 150 300
—E ﬁﬁﬁ-%@%ﬁ%ﬁiﬁﬁym 0 240 310 550
25150 &5 0 390 460 850
Lopi=A | AALELEI 0 190 210 400
HExt - B2 AT AR | 0 240 540 780
Top=-m it 0 430 750 1,180
ko4 | AfLEE] 0 40 30 70
= IE&#-%@%’H&%HS@I 0 50 80 130
EPEPES 0 90 110 200
F3s=FY  [AALEREI 0 0 0 0
= = :ﬁﬁ-%@fﬁ’aﬁiﬁﬂxal 0 0 10 10
EENES 0 0 10 10
TILRS— [AFLEREI 0 0 0 0
% %15%%@%’9%%3% 0 0 20 20
IJLRS— &5t 0 0 20 20
TIEED [AFLEEI 0 0 0 0
ExE - BE AN 0 0 10 10
TIEED £it 0 0 10 10
Ao &5t 0 910 1,360 2270
= 293448 |[A#LESEI 0 50 40 90
EXT - BT AR 0 110 60 170
29330 £&t 0 160 100 260
=G 5T 0 160 100 260
BIRE |27314%h |AfLESEI 0 50 40 90
X - S2E AR E | 0 70 100 170
29330 £&t 0 120 140 260
BRE &5 0 120 140 260
#E 27,400 52,320 87,840 167,560




(2) 2BFBEAHREGESR (25F)

BT - BRGEEHERRTE R
(HAL : h )
4 5 kR 7 T & % =
NN =] 7 I
11~2 A 3~5H 6 ~10H g

AFLELS] 800 900 850 2, 550
6, 879 I+ SRR | 1, 155 1, 905 1, 270 4,329
Zt 1, 955 2, 805 2,120 6, 879

52



AT
(BN .~ V)
BT U g LR AT T E R
ErFEEY 3, 520
KA o> 5 65
YL A R 12
DDHDF 8
AR ) 400
AL 22T R 3
XA 230
KA 90
B RAh R 100
K H 95
i 4,523
BRI 55
FARSR A 1
G 56
P Fr7iaR 24
i 24
Javky 270
PRI b Fas |
i 271
HF LT 1
LR, Y=k 2
T 1A 3
i 6

53




BT IR R LA T SR
B FFH N 246
) INE BT 64
L IENAN VA 482
i 792
2 FFF N 453
AR WHOD 151
T 65
i 669
FR IR Sk 22
2 25
A v 9
R AR~ L 18
i 27
R EEE S =
i 196
R Ty aHH 116
il 116
fEA R, ey 16
i 16
LB W 105
4y ST 21
NERA=P. 32
2 158
& 6, 879

54



3 WrFEdEtm
(1) BFFRR - S8R50 - B =000 - R BIAR e T E &
(EpL . )
. “ ] 1 ]
BRI #® m BEA | ni~2n | s3~58 | 6~10A &
AFLEA 600 600 600 1, 800
LEFEEY [ meossns 800 700 220 1, 720
it 1, 400 1, 300 820 3,520
ANALES
Koo R+ S0 | 4 61 65
il 4 61 65
ANALES |
YVIL I A A % - SRS 12 12
il 12 12
AFLELA |
DH D+ Rkt « SRS 8 8
il 8 8
) MLELS | 50 100 50 200
AR )V AR - SRS 75 75 50 200
e i 125 175 100 400
ALiE ‘ YN T]
ARk A AR - SRS 3 3
it 3 3
ANALE S| 40 40 40 120
== P R - SR 55 55 110]
it 95 95 40 230
ANALE S| 10 10 10 30
KAhdg R+ S4B | 30 30 60
it 40 40 10 90
ANALE S| 10 10 10 30
HEHRHE | e - 2nsssms 25 25 20 70)
it 35 35 30 100
AALE S| 10 10 10 30
K H A - BRI 65 65
2} 10 10 75 95
PN INTE]
BR44 R+ S04 | 30 25 55
4 [ it 30 25 55
AR LA
/A= S - SRR 1 1
2t 1 1
) PNINTE]
=TI FrTvm A | - RRERE 24 24
it 24 24
ANFLE 5] 30 30 60
DEERy Sy FAXF + SRR 110 100 210
TR il 140 130 270
HER TR
HEFa KT FAE - SR 1 1
i L -
AFLEA
HFa BT R+ SRS 1 1
it 1 1
AALEA |
15 U URD | st - R 2 2
it 2 2
AL
LA et - AR 3 3
i 3 3

55




1] ]
LR # Bl Cog | s~58 | 6~108
NFLES 30 30 30 90)
HFF TN | st - SR 50 50 56 156
il 80 80 86 246
ANALELA
IR INH LK | ARk - BRI 64 64
il 64 64
AFLEA
M SN A FHsH -+ AR 220 262 482
2t 220 262 482
AFLELS] 50 50 50 150
HFFHoN | st - ok 100 100 103 303
il 150 150 153 453
AALEA
A IR WHD HIRE - A BSER 76 76 151
il 76 76 151
NALEA |
TP ERRD | wws - s 65 65
2t 65 65
PN INTE]
g IR T LA A - SRS 25 25
2t 25 25
AALELA
T4 P - SR 9 9
ﬁﬁn =] §+ 9 9
TR FFLIRA]
A<k~ R+ S04k | 18 18
=t 18 18
ANFLE 5] 20 20 40)
A o] U TR | k- R 56 100 156
s 76 120 196
AALELA |
7 I TR H | - s 116 116
it 116 116
AFLE
REA IR T K| s B 16 16
gt 16 16
AFLEA
Lo W=7 | %t - megHsrms| 105 105
il 105 105
ANALES |
Koy I Ty aRH | s 21 21
il 21 21
ANALES |
NEPA= % - SRR 32 32
i 32 32

56






